Geometry (E)
Complementary/Supplementary Homework
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10 Find the measure of ZXVS, A
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11 One of two supplementary angles(i§)70° greater than the second.
Find the measure of the larger angle.
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12 a Point P is reflected over the y-axis to A'(/% \()
point A. Find the coordinates of A.
b Point P is reflected over the origin tc
point B. Find the coordinates o? B. 6('3"0') v o,
¢ If C is the midpoint of PA, find th e e
coordinates of C. /

13 Complete each of the following conditional statements and jus-

tify your completion with an explanation. —
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a If two angles are supplementary and congruent, then
b If two angles are complementary and congruent, then

16 Two supplementary angles are in the ratio 11:7. Find the mea-

sure of each.
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19 _Oueof two complementary angles added to one-half the other
yield9 72° Find half the measure of the larger.
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21 The supplement of an angl@faux times the complement of the
angle. Find the measure of the complement,
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Prove: ZCDF is comp. to £FDE. [Hint: S F
This proof takes more than two s
steps.) 5 : 5
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8 Given: Diagram as shown

Prove: ZGHK is supp. to £KH]J.
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